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1. The price of a good will fall if

A) there is a surplus at the current price.

B) the current price is less than the equilibrium price.

C) the quantity demanded exceeds the quantity supplied.
D) the price of a complement in consumption falls.

2. An import quota on sugar

A) increases the imports of sugar and lowers its price.
B) increases the imports of sugar and raises its price.
C) increases the demand for sugar and raises its price.
D) decreases the imports of sugar and raises its price.

3. A price ceiling creates a shortage. As a result, which of the following occurs?
A) only a loss of consumer surplus

B) only a loss of producer surplus

C) a loss of both consumer and producer surplus

D) a gain of both consumer and producer surplus
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4. The above figure illustrates a single-price unregulated monopolist. If the monopolist maximizes its
profit, the deadweight loss equals

A) $10,000

B) $20,000

C) $45,000

D) $40,000

5. Of the following, the best example of oligopoly is
A) wheat farming.

B) the restaurant industry.

C) the cigarette industry.

D) the clothing industry.
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6. Gross domestic product is a measure of the total value of all

A) sales in an economy over a period of time.

B) consumer income in an economy over a period of time.

C) capital accumulation in an economy over a period of time.

D) final goods and services produced in an economy over a period of time.

7. Which of the following are parts of the business cycles?
A) peak and potential GDP

B) real GDP and potential GDP

C) recession and expansion

D) inflation and recession

8. If you use $50000 of currency to make a long-term deposit in a saving deposit,
A) M1 decreases, but M2 is unchanged

B) M1 decreases and M2 increases

C) M1 is unchanged, but M2 increases

D) M1 and M2 both increase

9. If the government wants to engage in fiscal policy to increase real GDP, it could
A) increase government expenditure in order to increase short-run aggregate supply.
B) decrease government expenditure in order to increase short-run aggregate supply.
C) increase government expenditure in order to increase aggregate demand.

D) decrease government expenditure in order to decrease aggregate demand.

10. Which of the following increases the quantity of money?

A) an individual's cash withdrawal from a bank

B) an individual's purchase of a government security from the Fed
C) the Central Bank's purchase of a government security

D) an increase in the government's budget deficit
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